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Introduction
In RAN4#AH-1801 it was agreed that the UE will meet the RF requirements based on UE CC BW. And that there would be no additional BWP related requirements [1]. However, there was no agreement made as to which SCS: BWP or CC BW would be used to determine the RF requirements that UE has to meet. Additionally, the current RAN2 design specifies the CC BW on a per-SCS basis, rather than one single CC BW. For a given set of configured BWP’s which CC BW should be used as reference needs to be decided too. 
Discussion
Background
In NR we have the concept of BWP for a UE where the gNodeB can configure the UE to a smaller chunk of BW within a CC rather than the full CC BW. From the UE perspective, this would be useful for power savings as the network can configure the UE with a BWP that has BW smaller than UE CC BW when there are no grants and then switch to a BWP with wider BW when there are grants. Based on previous discussion, a BWP change could potentially entail a change to SCS, BW and LO frequency, or any subset of those. However, it is up to the UE to decide whether it wants to switch to a smaller BW to avail itself of the power savings or continue to operate in the CC BW to meet the RF requirements [1]. From the network perspective a UE that is switching to a smaller BW and one that is always operating in the CC BW are identical.  
For a UE operating in BWP, RAN4 decided the following in [1]
· UE behavior
· The UE meets RF requirements related to it’s configured BWP according to UE CBW (no additional BWP related RF requirements)
· FFS whether UE CBW next highest value after BWP bandwidth
· How the UE configures it’s RF in order to operate the BWP and meet the CBW based RF requirements is implementation dependent
However, the current RAN2 design on CC BW is per SCS. Thus, in the case where configured BWP’s have different SCS, RAN4 needs to decide which CC BW should be chosen as reference.
Proposal 1a: For a UE configured with multiple BWP’s with the same SCS, the carrierBandwidth corresponding to the SCS from SCS-specificCarrier should be used as reference to determine RF requirements.
Proposal 1b: For a UE configured with BWP’s with multiple SCS, RAN4 to decide how to choose reference CC BW from the set specified in SCS-specificCarrier.  
[bookmark: _GoBack]While it was decided that UE will use the CC BW as reference for RF requirements, there were no agreements made as to which SCS shall be used in scenarios where the SCS between configured BWP’s are different. The idea behind using the CC BW as reference was to ensure that RF requirements do not change upon a BWP switch. However, in case that BWP SCS is different from CC BW SCS, we need to ensure that it does not mandate stricter requirements than with BWP SCS. AS an example, consider the following scenario: BWP BW 50 MHz, BWP SCS 30 kHz, CC BW 50 MHz, CC SCS 15 kHz. If RF requirements are based on CC BW and SCS, the ACS jammer requirements in this case would be based on 50 MHz, 15 kHz. Since the BW occupancy with BW 50 MHz and SCS 30 kHz is smaller than that for SCS 15 kHz, the UE now must meet more stringent with a 15 kHz SCS signal because it is operating in BWP rather than CC BW. It is our opinion that UE requirements for a given SCS should not be get more stringent because of the configured CC BW. In the above example the UE requirements should not be more stringent in case of CC SCS is 15 Khz that it would have been for CC SCS 30 kHz. It may be the case that UE cannot meet the 15 kHz SCS requirements based on 30 kHz signal. 
Proposal 2: RAN4 to decide which SCS to use, BWP or CC, for UE RF requirements.    
Proposal 2a: UE will never have to meet more stringent requirements than corresponding to BWP BW and BWP SCS. 
Conclusions
Proposal 1a: For a UE configured with multiple BWP’s with the same SCS, the carrierBandwidth corresponding to the SCS from SCS-specificCarrier should be used as reference to determine RF requirements.
Proposal 1b: For a UE configured with BWP’s with multiple SCS, RAN4 to decide how to choose reference CC BW from the set specified in SCS-specificCarrier.  
Proposal 2: RAN4 to decide which SCS to use, BWP or CC, for UE RF requirements.    
Proposal 2a: UE will never have to meet more stringent requirements than corresponding to BWP BW and BWP SCS. 
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